
Assembly Instructions: 
Roller Blinds 

Inventory List

Inventory for roof ridge installation: 

Name Amount
Pcs

Hammer head bolt M6 x 18 4

Washer 6.4, DIN 125, stainless steel V2A 4

Hex nut M6, DIN 934, stainless steel V2A 4

4

S-hook  4 mm 8

Galvanized chain DIN 5685, 
long links (approx. 500 mm long) 4

Eyelet M 6 

1

USA Distributor for Hoklatherm 
16001 Impact Way Pflugerville, TX 78660 
______________________________________________________________________________09.2022_ 



Screw eyelets into 
channels of roof 
beams in your 
desired location. 

Hang roller blinds in 
desired height using 
the chain and s-hooks.

2



Inventory list for sidewall attachment:

Name Amount
Pcs

Hammer head bolt M6 x 16 9

Washer 9

Flag cleat

9

Eyelet M6 1

Cord with grip ring (length approx. 3.0 m) 2

Sidewall attachment of roller blinds:

There are holes in the keder profiles of the roller blinds. The holes are used 
to attach the extended (rolled-out) roller blind.

Align the assembled 
attachment hooks with 
the holes in the roller 
blind profile.

Assembly of attachment hook:
Assemble the hook, hammer head bolt and other items in the following order to 
build the attachment hook.  

4

4

Long nut 

Hook

2

3

Hex nut M6, DIN 934, stainless steel V2A



Attach cord on eyelet. 

The cord can be run 
through this guide on the 
sidewall. 

Guide of the cord consisting of:

Hammer head bolt M6x16 

Washer

Hex nut M6 

Eyelet M6 

4



Assembly Instructions: 
Roller Blinds

Inventory List

Inventory for sidewall 
installation: 

5

Name Amount
Pcs

Hammer head bolt M6 x 18 4

Washer 6.4, DIN 125, stainless steel V2A 7

Flag cleat

7

Eyelet M6 

3

Cord with grip ring (length approx. 3.0 m) 

1

3

2

Hex screw M6 x 16, DIN 933, stainless steel V2A

Mounting brackets

1

Hex nut M6, DIN 934, stainless steel V2A



The roller blind is mounted on 
the gutter profile by using the 
mounting brackets.

Mounting brackets

The shading fabric is tensioned on a roll by utilizing a spring.

The eyelet is used to guide the cord. The 
eyelet is screwed to the vertical profile just 
before the floor profile.

The cord is wrapped around the flag 
cleat several times to prevent the shade 
from retracting.

6



Customer Service or 
Assembly Questions?

Give us a call
Toll free:  1-877-760-8500 

customerservice@exaco.com 
Exaco Trading

www.EXACO.com

Please watch our animated assembly 
video on our Exaco Trading Co 

YouTube Channel.  
Find the link at www.exaco.com


	Montageanleitung Seitenrollo.pdf
	Tabelle1




